The Church has PROBLEMS!

Reformation:  Within Christianity there was a movement to get rid of practices in the church that were considered inappropriate such as abuse of power, gambling, drinking, simony, and indulgences.

The Earliest Protestants 1300-1400’s-  __________________ and ___________________
-  they both believe that the church should reform

-  they both believe the pope had too much power

-  they both believe the bible is the way to salvation and truth

Martin Luther was a priest who would confess his sins, fast, and pray, and still he felt guilt.  He started to look to the bible to find salvation and to be a good Christian.  Eventually he :

October 31st, 1517, Martin Luther posted the 95 Theses on the church at Wittenberg.  The 95 Theses are…

In 1440, Johann Gutenberg invented the ____________________________ which had moveable type.    This was a major part of the Reformation because…

The new bible was written in vernacular, which means…
The Pope reacts to Martin Luther by…

Martin Luther throws ___________________  in the ___________________ which shows that he…

Martin Luther had to stand trial at___________________________  but made a case that salvation comes through_______________, not indulgences.

This sets off a _______ between …

A Protestant is…

The end result is the Peace of Augsburg which means…
